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“ N_RIFO1.c”

#include <stdio.h>

#include <conio.h>

#include <stdlib.h>

#include <math.h>

int da_data,i,volt,voltl;

unsigned int reg data,baseadrl,baseadr2;

char erron,erroff;

int regst( unsigned baseadr)
{

reg_data=0xcf,;
outpw(baseadr+4, reg_data);
erroff=(baseadr+4);

return(erroff);

}

int regst_ outpw(unsigned baseadr ,unsigned int regst_no)
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{

reg_data=regst _no;

outpw( baseadr, reg_data);
return O;

}

double da outpw(unsigned baseadr ,int port no, double value )

{

if( (port_no >= 0)&&(port_no <= 15) ){
da_data = (value+10.0) /7 20.0 * 4096.0;
if (da_data < 0) da_data = 0;
if (da_data > 4095) da_data = 4095;
outpw(baseadr+2, OxfO+port_no);
outpw(baseadr, (unsigned)da_data);
erroff=(da_data);
return(erroff);

}

else{
erron=1;

return(erron);
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double ad_inpw( unsigned int baseadr ,unsigned int port_no )

{

double volt;

int ad read data,;

unsigned int ad _write_data

ad write_data = port no*8+5;
iIf( (port_no >= 0)&&(port_no <= 15) ){
outpw(baseadr+2, 0x70+port_no); /*0..7:AD1, 8..F:AD2 */
outpw(baseadr , port no*8+5)

/* SWCONV on, 2'comp. format */
for(i=0;i<10; i++) ad write _data=i; /* wait */
ad_read _data = (signed)inpw( baseadr );

if (ad_read data & 0x0800 ) ad _read data = 0xf00O;
volt = (double)ad read data // 2048 * 10;
return(volt);
}
else{
erron=(1);

return(erron);



#include
#include
#include
#include

#include

Nomura.c

<stdio.h>
<stdlib.h>
<math.h>
<conio.h>

"C:¥N works¥N rif0l.c"

#define base adr 0x1a0//RIFO01

void
double
double
double
void

void

/*

double

control_body(void);

xy_angle(int *);

z angle(void);

post_s(void);

post control(double, double, double);

motion_control(double, double, int);

*/

X0, YO: // (x,y)

static double delta_x=0.7, delta_y=0.7;

//

static int K=30; //

static double delta_alph=5.0;//delta_alph=

static double U_alph=2.5;//U alph=

static double P_alph=0.5;//P alph=

static double U motion=1.0;//U _motion=
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static double P _fix=5.0;//P fix=

static int joy _x=0,joy y=1,joy z1=2,joy _z2=3; //AD
static int post=4;

static int motor1=0,motor2=1,//DA ch

static int fix=2;

void main(void)

{

printf("¥n");

regst(base_adr); //

X0=ad _inpw(base_adr,joy x); //
Y0=ad _inpw(base_adr,joy_y);
control_body();
da_outpw(base_adr,motor1,0.0);//
da_outpw(base_adr,motor2,0.0);

da_outpw(base_adr,fix,0.0);

exit(0);

}

void control body(void) //
{

int i;

int p=0;

double xy R, z_R;
double alph=0.0;

for(;'kbhit();){
Xy _R = xy_angle(&p);

ch
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z R = z angle();

alph = post_s();

if(xy_R!=1000 |} z_R!=1000){
if(fabs(xy_R - alph) > delta_alph){
post_control(xy_R, alph, z_R);

}

elsef

motion_control(xy_R, alph, p);

)

)

else{
da_outpw(base_adr,motor1,0.0);//
da_outpw(base_adr,motor2,0.0);
da_outpw(base_adr,fix,P_fix);

}

printf("xy R=%f p=%d z R=%f alph=%f ¥r" ,xy R,p,z_R,alph);
}
)

void post_control(double xy_R, double alph, double z_R)//
{

if(z_R == 1000){

da_outpw(base_adr,fix,0.0);

if(xy_ R >= alph){

da_outpw(base_adr,motorl,+U_alph);

da outpw(base_adr,motor2,+U alph);
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}

else{
da_outpw(base_adr,motorl,-U alph);
da_outpw(base_adr,motor2,-U _alph);
}

}

else{

da outpw(base _adr,fix,P_fix);

if(z R > 0){

da_outpw(base _adr,motorl,-P_alph);
da_outpw(base_adr,motor2,-P_alph);
)

else{
da_outpw(base_adr,motorl,+P_alph);
da_outpw(base_adr,motor2,+P_alph);
}

}

}

void motion_control(double xy_R, double alph, int p)
{

da_outpw(base_adr,fix,P_fix);

if(p==12){

da_outpw(base adr,motorl,-U_motion);
da_outpw(base_adr,motor2,+U_motion);

}

else{

da outpw(base_adr,motorl,+U motion);

//
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da_outpw(base adr,motor2,-U_motion);

}
}

double xy _angle(int *p) //7(x y)
(0-360)

{

int stop=1000;

double ang,x,y;

double r,rl1,r2;

x=X0 - ad_inpw(base_adr,joy _x);

y=ad_inpw(base_adr,joy_y) - YO,

if(fabs(x)<=delta_x && fabs(y)<=delta_y) return(stop);

ang = (180.0/3.1415926)*atan2(y, X);
if(ang<=-22.5) ang=ang + 360.0;
for(i=0;i<=7;i++){

r = 45%i,

ri=r - 22.5;

r2=r + 22.5;

if(ang>=rl && ang<r2) ang=r;

}

if(ang>=180){

*p=34,

ang=ang - 180.0;

}
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else{

*p=12;

return(ang);

}

double z_angle()
//z
//
//
{
int stop=1000
doubleb ang,z1,z2;

zl=ad_inpw(base_adr,joy_z1);

z2=ad_inpw(base_adr,joy_z2);

if(z1>4.0 && z2<1.0)

ang = -30.0;

)

else if(z1<4.0 && z2>1.0){
ang = 30.0;

}

elsef{

return(stop);

}

return(ang);

:ad_ch
:ad_ch

—

—

joy z1
joy z2
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}
double post_s() //

//alph=a*Vo”"2+b*Vo+c

//(180 - 2.71v 90 - 4.56v 0 - 7.37V)
//Vo

{

int i;

double a=3.566561995,b=-74.57755435,c=355.9119844;

double alph,Vo;

for(i=0;i<K;i++){

Vo=ad _ inpw(base_adr,post);

alph = alph + (a*Vo*Vo + b*Vo +c);
}

alph = alph/K;

return(alph);
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double da_outpw(unsigned baseadr ,int port_no, double

value )

I+

double da_outpw(unsigned baseadr ,int port_no, double

value )

I+



void

double

double

double

control_body(void)

xy_angle(int *);

z_angle(void);

post _s(void);
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void

void

post _control(double, double, double);

z_angle(void)

motion_control(double, double, int);

xy_angle(int *)
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